WHY DID THE POLICEMAN
ARREST THE
BASEBALL PLAYER?

I1. Find the answer at the bottom and write the corresponding letter.

What is the opposite of —2?
What is the opposite of -7.47?
What is the opposite of -3% ?
What is the opposite of 6?
What is the opposite of 2.76?
What is the opposite of Y2
What is the opposite of 1%?

(L) What is the opposite of 8.02?
What is the opposite of —-0.9?

‘ @ What is the opposite of -% ?

What is the opposite of —0.3?
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Use the answers given for each section to complete the joke.

Which is greater: |-4| or |-9]? Which is less: |-13| or |5]?
(3) Which is greater: |8| or |-3|? Which is less: |-4)% | or |1}]?

(5) Which is greatest: |-10], |-4], |-5]? Which is least: |7|, |-17], |-9|?
Which is furthef from zero: -2.4 or 3.7?

‘ Which is closest to zero: =% or % ?

‘ (9) Which is furthest from zero: 12.4, 15, 7.9, -3?
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Put |-8|, |-2|, |9| in order from least to greatest.
Put |14[, |—4.9|, |5.9| in order fromn least to greatest.

12 put |-6Y%|, |5%|, |-1%| in order from least to greatest.

| Answers ( 10 12) ]

@ |-, |2, |9l @ [14], 5.9, |-4.9|

| (D |-2|, |-8], |9l ® |5.9], |-4.9], |14]
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